Train Timetable Activity

Destination Journey A Journey B Journey C
Dumfries 10:20 11:30 16:40
Glasgow 12:20 18:00
Edinburgh 12:40 13:10 18:30

Perth 13:20 13:55 19:15
Inverness 14:25 14:40
e
Duration 3 hours

1. Journey B takes 1 hour to get from Dumfries to Glasgow.
What time do you arrive at Glasgow?

2. Journey C takes a total of 3 hours. What time does it arrive at Inverness?

3. How long does journey A take?

4. You need to be at Perth for 13:30. Which is the best journey to take?

5. You arrive at Edinburgh train station at 18:10.
How long do you have to wait for the next train to Inverness?

6. How many stations does the 11:30 train stop at before it reaches Perth?
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Train Timetable Activity

Destination

Journey A

Journey B

Journey C

13:30

18:40

Dumfries 12:20

Glasgow

Edinburgh

Perth

Inverness

Duration

7. Sunday trains run exactly 2 hours later than the rest of week. Fill in the timetable above.

8. Create your own train timetable, with three journeys. Use your own stations and times.

Destination

Journey

Journey

Journey
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Train Timetable Activity

Destination Journey A Journey B Journey C
Dumfries 10:15 11:30 16:40
Glasgow 12:15 18:05
Edinburgh 12:40 13:10 18:30

Perth 13:20 13:55 19:15
Inverness 14:05 14:35
e
Duration 3 hours

1. Journey B takes 1 hour 15 minutes to get from Dumfries to Glasgow.

What time do you arrive at Glasgow?

2. Journey C takes a total of 3 hours. What time does it arrive at Inverness?

3. How long do journeys A and B take?

4. You need to be Perth for 13:30. Which is the best journey to take?

5. You get to Edinburgh at 16:50.
How long do you have to wait for the next train to Inverness?

6. How many stations does the 11:30 train stop at before it reaches Perth?

W**

visit twinkl.com




Train Timetable Activity

Destination

Journey D

Journey E

Journey F

Dumfries

Glasgow

Edinburgh

Perth

Inverness

Duration

7. Journeys D, E and F run exactly 12 hours later than journeys A, B and C. Fill in the

timetable above.

8. Create your own train timetable, with three journeys. Use your own stations and times.

Destination

Journey

Journey

Journey

visit twinkl.com




Train Timetable Activity

Destination Journey A Journey B Journey C
Dumfries 10:17 11:37 16:43
Glasgow 12:12 18:08
Edinburgh 12:38 13:08 18:27

Perth 13:16 13:58 19:14
Inverness 14:06 14:34
- r—r ]
Duration 3 hours 5 minutes

—

What time do you arrive at Glasgow?

. Journey B takes 1 hour 16 minutes to get from Dumfries to Glasgow.

N

Journey C takes a total of 3 hours and 5 minutes. What time does it arrive at Inverness?

w

How long do journeys A and B take? What is the difference in time?

4. You need to be at Perth for 14:30. Which is the best journey to take?
How much time will you have in Perth?

5. You arrive at Edinburgh train station at 16:50.

How long do you have to wait for the next train to Inverness?

o

How many stations does the 11:37 train stop at before it reaches Perth?
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Train Timetable Activity

Destination

Journey D

Journey E

Journey F

Dumfries

Glasgow

Edinburgh

Perth

Inverness

Duration

7. Journeys D, E and F run exactly 11 hours 35 minutes later than journeys A, B and C.
Fill in the timetable above.

8. Create your own train timetable, with three journeys. Use your own stations and times.

Destination

Journey

Journey

Journey
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Train Timetable Activity - Answers

1. 12:30

2. 19:40

3. 4 hours 5 minutes
4. Journey A

5. 20 minutes

6. 2 stations

7.

Destination Journey A Journey B Journey C
Dumfries 12:20 13:30 18:40
Glasgow 14:20 14:30 20:00
Edinburgh 14:40 15:10 20:30

Perth 15:20 15:55 21:15
Inverness 16:25 16:40 21:40
Duration 4 hours 5 minutes 3 hours 10 minutes 3 hours

8. Accept any reasonable answer.
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Train Timetable Activity - Answers

1. 12:45

2. 19:40

3. Journey A = 3 hours 50 minutes
Journey B = 3 hours 5 minutes

4. Journey A

5. 1hour 40 minutes

6. 2 stations

7

Destination Journey A Journey B Journey C
Dumfries 22:15 23:30 04:40
Glasgow 00:15 00:45 06:05
Edinburgh 00:40 01:10 06:30
Perth 01:20 01:55 07:15

Inverness 02:05 02:35 07:40
Duration 3 hours 10 minutes 3 hours 5 minutes 3 hours

8. Accept any reasonable answer.
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Train Timetable Activity - Answers

1. 12:53
2. 19:48
3. Journey A = 3 hours 49 minutes
Journey B = 2 hours 57 minutes
Difference between two time = 52 minutes
4. Journey AorB
Journey A = 1 hour 14 minutes
Journey B = 32 minutes
5. 1hour 37 minutes
6. 2 stations

7.

Destination Journey A Journey B Journey C
Dumfries 21:52 23:12 04:18
Glasgow 23:47 00:28 05:43
Edinburgh 00:13 00:43 06:02

Perth 00:51 01:33 06:49
Inverness 01:41 02:09 07:23
- r v ]
Duration 3 hours 49 minutes | 2 hours 57 minutes 3 hours 5 minutes

8. Accept any reasonable answer.
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